A K #E R &R FBEBRFANL

ot 5 KETH 5 =

¥ B 4| rEvhiudber 2 — KR CRAGEA)

N o Al R E R R R 2 — 7 — 1

ARUBEL S " 8EN=55,344kg, 70 f-hEfaAIN=4,982ke
Wy ih 4 S| IR — & (RUM) N=981H, ¥ =V EN=244
AL R — 4 (1 —V—) N=7,680kg, 7= FEN=8%

AALE =
pH M H By

ANFL H Bl & 542 H 21 H 1485004y

BAfEL 720 - %%D5$S4H1El

Y g 643 A31H
(ZEF%) oM HF£ A H

%Rl | P O(E: (I R 1—9—4
(A H)| pas: SAES TR,

4 ) EKIITEA T oE M K 8,199,765 H
R 4 %A - =

(1) ONKL S HE BT 4%) 7,454,332

a4 R OAFLEE 4 N ) T

BRI T 3Rt 6,516,084 % AL
WP PE SRS 6,958,728
T s FUT AR AL (@ T 7,118,800
SR L T kR 7,350,000

FRR TR T AFLEEIE




